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‘Tomfool’ does not mean:

Relish
a) Inane b) Imbecilic ¢) Cretinous d) Relish d
Which of the following statement(s) is/are false?
A. After a spate of scams, many investors have leery of late.
B. The word ‘Wraith’ means ‘Chary’.
C. The latest movie shows hobgoblins like creatures as main destructor of the B onl
universe. y
D. Due to his terminal illness his parents always keep watchful eyes on him.
Choose the correct answer from the options given below.
a) Aonly | b) B only [0)A&C |d)B&D b
Match the following pairs based on similar meaning:
A. Unflagging 1. Sedulous A Biii C
B. Easeful ii. Slow : _ID s
C. Equivocal iii. Tranquil v
D. Lethargic iv. Amorphous
a)A-iB-iii  C- | b) A-i B-iv ¢) A-iv B-iii d) A-ii B-ivC-ii | a
iv D-ii C-iii D-ii C-ii D-i D-i
Which of the following is the Gliding Consonant? /il
a) /v/ [b)/j/ | o)/ k/ [ dy g/ b
Which of the following statement(s) is/are not true?
A. He is vague about vogue.
B. His cack-handed approach is responsible for his failure.
C. The word “Yobbish’ gives sense of positive social element.
D. The elephantine approach to this elephantine work has made the entire C only
process ineffective.
Choose the correct answer from the options given below.
a) D only [b)A&C |c)B&D | d) Conly d
Choose the correct sequence for the following jumbled phrases/sentences:
“a man had opened the gate and (R)/ It was probably on account of (Q)/ QPRS
entered the forge, until he stood close up to the furnace.(S)/ all this noise
that the blacksmith did not notice that(P)/”
a) RQPS | b) QPRS | c) PRQS | d) SPQR b
In which state “Kolukkumalai Tea Estate”, a tourist place, is located? )
Tamilnadu




a) Assam b) Meghalya ¢) Tamilnadu d) Karnataka
()
8 | Match the following diseases with their pathogens.
. . 1-C
1. Chikungunya A) Parasite 2-A
2. Malaria B) Bacteria 3B
3. Plague C) Virus 4D
4. Tungiasis D) Ectoparasite
a) 1-C, 2-A, 3-D, | b)1-C, 2-A, 3-B, | c)1-A, 2-D, 3-B, | d)1-D, 2-A, 3-C, )
4-B 4-D 4-C 4-B
9 | Among the following statements which are false.
A. World Health Organisation was established in 1948.
B. Bhismaknagar is an archeological site in Indian state of
B&D
Assam.
C. Mawsmai Falls is located in Meghalaya.
D. Salim Ali Bird Sanctuary is located in Tamilnadu.
a) A&B [b) B&D o) C&A [d) A&D (b)
10 . cp . Both (A)
For Assertion (A) and Justification (B) below, choose the correct alternative:
and (B) are
A: Eye contains a smooth dome called Cornea help in seeing object. corr_ect and
(B) is the
. . . . correct
B: Cornea present in the eye let the light rays pass through it unhindered and explanation
focus sharply on the retina. of (A)
a) Both (A) and b) Both (A) and | ¢) (A)is correct | d) (A)is false
(B) are (B) are and (B) is and (B) is
correct and correct and false correct
(B) is the (B) is the not @
correct correct
explanation explanation
of (A) of (A)
11 | Cities and their coordinates are given. Match the correct pairs
A Ttanagar I 25.5788°N, 91.8933° E A-1V, B-1,
B Shillong II 27.3314° N, 88.6138° E C-I11, D-1I
C Guwabhati IIT 26.1158° N, 91.7086° E
D Gangtok IV 27.0844° N, 93.6053° E
a) A-IV, B-1, C- b) A-IV, B-I, C- | ¢) A-I, B-1I, CIII, | d) A-III, B-I, @
III, D-1I II, D-III D-IV CIII, D-1V
12 | In which state Satish Dhawan Space Centre (SDSC-SHAR) is located ? Andhra
Pradesh




a)Telangana b) Kerala ¢) Tamil Nadu d) Andhra )
Pradesh
13 | Higher Education Statistics & Public Information System (HESPIS), a plan of
Govt. of India is approved till......... 2025-26
a) 2025-26 b)2024-26 ©)2024-2027 d) 2023-2028 (a)
14 | Match the following sports and sportspersons associated with it.
1. Manu Bhakar A) Javelin Throw é:i
2. Neeraj Chopra B) Footbal 3B
3. Sunil Chhetri C) Shooting 4D
4. Mary Kom D) Boxer
a) 1-C,2-A,3-D, | b)1-C, 2-A,3-B, |c¢)1-A,2-D,3-B, d)1-D,2-A,3-C, )
4-B 4-D 4-C 4-B
15 | Choose the wrong statement.
1. The Bhartiya Sahitya Akademi (Sahitya Akademi) is a prestigious literary
award in India.
2. Sahitya Akademi is the highest literary award in India. 2&3
3. First Sahitya Akademi award was given in 1950.
4. Salman Rushdie a celebrated author has not received any sahitya
Academy award till date.
a)l &3 |b) 2&3 | 0)3&4 (d)1&4 (b)
16
For Assertion (A) and Justification (B) below, choose the correct alternative:
A: Sachin Tendulkar is Dronacharya awardee.
(A) is False
B: Dronacharya award is given for best performance in any sport. and (B) is
also false
1. Both (A) and (B) are correct and (B) is the correct explanation of (A)
2. Both (A) and (B) are correct and (B) is the not correct explanation of (A)
3. (A)is False and (B) is also false
4. (A)is false and (B) is correct
a) 1. | b) 2. | ¢) 3. | d) 4. (c)
17 | Match the following information associated with ISRO.
A. Established i. 1975 A-1V, B-1,
B. First Launch ii. 2023 C-III, D-11
C. PSLV-C6/EOS-09 Mission | iii. 2025
D. Chanderyan iv. 1969
a)A-1V,B-I,C- | b)A-IV,B-I,C- | c)A-I, B-II, CIII, | d) A-III, B-I,
111, D-11 11, D-111 D-IV CIII, D-1V @)
— - - - =
18 Wh(z)ov;gs?mwted as chief guest for Republic Day Celebration on 26™ January Prabowo
Subianto
a) Giorgia b) Rishi Sunak ¢) Emmanuel d) Prabowo )
Meloni Macron Subianto




19

Choose false statement.

Brahmos
A. Indus water treaty is in abeyance. missile of
B. Arunachal Pradesh Governor is Lt. General Shree K.T. Parnaik (retd.) India can
C. Han Kang won the 2024 noble prize for literature. reach up to
D. Brahmos missile of India can reach up to the speed of Mac 10. the speed of
Mac 10
a) A |b)D o C | d)B (b)
20 | Match the current Cabinet Minister with their ministry.
A. Shri Manohar Lal 1. Minority Affairs
B. Shri Kiren Rijiju ii. Commerce and Industry A-IV, B-1,
C. Shri Shivraj Singh Chouhan | iii. Agriculture C—IIL D-II
D. Shri Piyush Goyal iv. Housing and Urban Affairs
a) A-iv, B-i, C-ii, | b) A-i, B-iv, C-iii, | ¢) A-iv, B-i, C-iii, | d) A-iv, B-iii, C-i, ©)
D-iii D-ii D-ii D-ii
21 | The formula to calculate perimeter (P) of the circle is ..... o
a)P= 2mr? b) P=nr? c)P=2nr d)P=1/2nr?
(c)
22 | Match the following angles with their value.
1. sin 0° A)l é:i
2. cos 0° B) 1/2 3B
3. sin 30° 00 4-D
4. sin 270° D) -1
a) 1-C,2-A,3-D, |b)1-C, 2-A,3-B, |c)1-A,2-D,3-B, d)1-D,2-A,3-C, )
4-B 4-D 4-C 4-B
23 | Among the following choose the false statements. Perpendicul
ar>= Base? -
A. Perpendicular’ = Base? - Hypotenuse? Hypotenuse?
B. Hypotenuse? = Base? + perpendicular? and
C. Perpendicular? = Hypotenuse? - Base? Perpendicul
D. Perpendicular? = Base? + Hypotenuse? ar’= Base® +
Hypotenuse?
a) A& B |b) B&C lc) C&D |d) A&D (d)
24 | For Assertion (A) and Justification (B) below, choose the correct alternative:
If (A) is
A: 7 can be divided either by 1 or 7. correct and
(B) is false
B: 7 is not a prime number.
a) Both (A) and b)Both (A)and |c¢)If(A)is d) If (A) is false
(B) are (B) are correct and and (B) is
correct and correct and (B) is false correct (©)
(B) is the (B) is the not
correct correct




explanation explanation
of (A) of (A)
25 | Mathematicians and their birth places are given. Match the correct pairs
A Ramanujan i Kusumapura
B Aryabhata ii Kanpur é—_III\I/’ g_—II,I
C Brahmagupta iii Bhillamala ’
D Harish Chandra iv Erode
a)A-IV,B-I,C- | b)A-IV,B-I,C- | c)A-IL B-II, CIlII, | d) A-IIL B-I, @
111, D-II 11, D-1IT D-1V CIlI, D-IV
26 | Mr. A walks 10 meter towards east turn left and walks 6 meter and turns right
and walks 1 meter and again turn right. If he starts walking straight Find | South
out the direction he is moving towards ?
a)North | b)West | c)East | d)South (d)
27 | Play way approach of teaching is based upon whose philosophical idea ? H. Caldwell
Cook
a) Maria b) Albert Cook ¢)Thomas Cook | d) H.Caldwell
Montessori Cook (d)
28 | Match the following Indian philosophies/ teaching and person associated with
1t.
1-C
1. Samakhya  A) Patanjali 2-A
2. Yoga B) Gautam Muni 3-B
3. Nayaya C) Kapila 4-D
4. Vaisheshika D) Kanada
a) 1-C,2-A,3-D, | b)1-C,2-A,3-B, ¢)1-A,2-D,3-B, d)1-D,2-A,3-C, )
4-B 4-D 4-C 4-B
29 | Match the correct pairs of philosophies and their underpinning idea.
A. Behaviourism i. Mental Process
P r — . A-1V, B-1,
B. Cognitivism ii. Individual growth and well being C-ITL D-II
C. Constructivism iii. Construct Knowledge ’
D .Humanism iv. Observable behaviour
a) A-IV,B-I,C- | b)A-IV,B-I,C- | c)A-IL B-1I, CIlII, | d) A-IIL, B-I,
111, D-1I 11, D-1IT D-1V CIII, D-IV @)
30 | Choose the wrong statement about tutorial method of teaching. Students
with
1. Tutorial method of teaching is teacher centric method of teaching. different
2. Students are grouped based on their strength and weakness. abilities and
3. Each Group works with different teacher who provides individual challenges
guidance. are mixed in
4. Students with different abilities and challenges are mixed in a group. a group
a)l | b)2 | ©)3 [ d)4 (d)




31 | Which kind of teaching aid Epidiascope is? Visual
a) Audio | b) Visual | ¢) Audio- Visual | d) None (b)
32 | The book titled ‘The Essential of Teaching: Decisions, Plans and Methods’ is | McNeil and
written by: Wiles
a) McNeil and b) Kourilsky and | c¢) Everston and d) Crocker and
Wiles Quarantee Emmer Brooker a
33 | Academic learning time takes:
A. Available time and engaged time
B. Allotted time and engaged time
C. Transition time and allotted time B only
D. Transition time and available time
Choose the correct answer from the options given below.
a)A only |b) B&D | ¢)B only | d)A&C c
34 | Match the following pairs based on learning resources:
A. Film strips i. Print .
A-iv B-iii C-
B. CCTV ii. Non-Projected n v B
C. Puppets iii. Projected-Motion D4
D. Clippings from published iv. Projected-Still
work
a) A-iv B-iii C-ii | b) A-iii B-ii C-iv | ¢) A-ii B-iii d) A-i B-iii C-iv | a
D-i D-i C-iv D-1 D-ii
35 | Analyzing socio-cultural context is a part of: Pre-active
phase of
teaching
a) Pre-active b) Interactive c)Post-active d)At any phase of
phase of phase of phase of teaching a
teaching teaching teaching
36 | Which of the following option is not related to process of questioning? e
Specificity
a) Style b) Pause c¢) Specificity d) Voice
c
37 | Which of the following statement is false?
A. Teacher moves to the black board and then towards the students is an
example of teacher movement.
B. While reading a poem, the teacher modulates his voice is an example of
teacher gesture. B only

Teacher looks disturbed and stops speaking is an example of pausing.
While demonstrating an experiment, the teacher asks the students to
observe and arrive at a conclusion and again ask them to observe is an
example of change in focusing.

oAa




Choose the correct answer from the options given below.

b) Aonly | b) B only [0)A&C [d)B&D b
38 | Which of the following is not a core teaching skill? Skill of
writing
instructional
objectives
a) Skill of b) Skill of ¢) Skill of d) Skill of
response writing questioning stimulus b
management instructional variation
objectives
39 | Match the following pairs based on modification of teaching behaviour:
A. Reading i. Social Skill Training o
B. Feedback ii. Knowledge Acquisition A'_l'l.B‘l.V
C. Integration iii. Transfer C-iii D-i
D. Simulation iv. Skill Acquisition
a) A-iv B-iii C-ii | b) A-iv B-iiC-iii | ¢) A-ii B-iv d) A-iB-iii C-iv | ¢
D-i D-i C-iii D-i D-ii
40 | Which of the following activity is not relevant in simulation?
A. Learning by doing
B. Immediate feedback and reinforcement
C. Rehearsal after connecting real class room C only
D. Providing safe platform for practice
Choose the correct answer from the options given below.
b) A only | b) C&D [c)B&D | d) Conly d
41 | According to Bloom’s Taxonomy, choose the correct option of the following Arts+
equations: Knowledge
= Abilities
a) Arts+ b) Arts+ Abilities | ¢) Arts+ Attitudes | d) Arts+ Values =
Knowledge = = Skills = Abilities Real a
Abilities Knowledge
42 | Which of the following is not the example of knowledge of specific facts as
per Bloom’s taxonomy? A)
Possession
A. Possession of maximum knowledge about the organisms in the laboratory. | of maximum
B. Acquiring information of major natural resources. knowledge
C. An acquaintance with the more significant names, places and events in the about the
news. organisms in
D. Knowledge of reliable sources of information for wise purchasing. the
laboratory.
Choose the correct answer from the options given below.
c¢) D only | b) A only [c)A&C |d)B &D b
43 | Given below are two statements. One is labelled as A and other is labelled as | A and B are
B. systematized




by ordered

A: Teacher provides strategic knowledge. statements.
B: Teacher provides knowledge about cognitive tasks.
In the light of above statements, choose the most appropriate answer from the
options given below:
a)Aisan b) B is an ¢) A and B are d) A and B are
explanation explanation systematized context-based
of B. of A. by ordered statements. ¢
statements.
44 | Match the following pairs based on Revised Bloom’s taxonomy of
educational objectives:
A Differentiating i Create A_l_\_’ _ B’%l
B Checking ii Evaluate C-iii D-i
C Inferring iii Understand
D Planning iv Analyze
a) A-iv B-ii C-iii | b) A-ii B-iii C-iv | ¢) A-iii B-i d) A-i B-iii C-iv a
D-i D-i C-ii D-iv D-ii
45 | Revised Bloom’s taxonomy is not:
A. Psychological
B. Logical D)
C. Descriptive Philosophica
D. Philosophical 1
Choose the correct answer from the options given below.
b) Conly | b) D only | ) B&C | d)C&D b
46 | Scientists who study physical, cognitive, and social changes throughout the Developmen
life cycle are called tal
Psychologist
S
a) Psychologists | b) c) Psychological | d) Behavioural
Development Scientists Psychologists )
al
Psychologists
47 | The period of development from conception to birth is called
Prenatal
a) Natal | b) Zygote | ¢)Embryo | d)Prenatal (d)
48 | Which of the following(s) is/are true?
A. Mental development is influenced by maturation.
B. Mental development is influenced by learning. A. Mental
C. Mental abilities are developed in isolation fie.velopment
D. Mental development includes thinking ability, problem solving ability, 15 mﬂ];] enced
love and affection, worries and anxieties. Y
maturation.




B. Mental

development
is influenced
by learning
a) All of the b)A.C.D c) AB. d)B.,C,.D ()
above
49 | Given below are two statements: one is labelled as Assertion (A) and the
other is labelled as Reason (R). Both (A)
(A) Assertion: The study of life-span development emerged as a new
discipline, focusing on how behaviour changes during the childhood years and (R) are
and throughout adulthood. .true and (R )
is the correct
(B) Justification: Child psychology remained a separate and distinct field xp lfa ngtlon
from the study of life-span development. of (A)
a) Both (A)and ( | b)) Both (A)and | c) (A)is true but | d)(A) is false but
R) are true (R) are true, (R)is false (R)is true
and (R ) is the but( R) is not @)
correct the correct
explanation explanation
of (A) of (A)
50 | Educational psychology is a branch of psychology, that is:
Applied
psychology
a) General b) Applied ¢) Social d) Comparative
psychology psychology psychology psychology (b)
51 | ‘Educational psychology is a branch of psychology which deals with teaching
and learning’. This definition is given by .
Skinner
a) Skinner b) Crow and ¢) C. V. Good d) J. B. Watson
Crow @)
52 | The knowledge of educational psychology is essential for teacher as it helps
the teacher to understand:
A. ICT skills and its uses for children’s development B.C.D
B. The developmental characteristics of learner T
C. Individual differences
D. The relative importance of heredity and environment
a) All of the b) A,B,C. ¢) B,C,D. d) AB
above (©)
53 | Educational psychology is distinct discipline with its own:
All of the
above
a) Theories b) Research ¢) Problems and | d) All of the d)
methods techniques above

10




54 | Educational psychology is distinct from other branches of psychology Understandi
because its primary goal is: ng and
improvemen
t of
education.
a) Understanding b) To develop c) d) Understanding
and teaching To produce good and
improvement . students. improvement (a)
. skills.
of education. of classroom.
55 | What is the primary focus of Howard Gardner’s Theory of Multiple Intelligence
Intelligences? consists of
multiple
independent
abilities,
such as
linguistic
and spatial
intelligence
a)Intelligence is a | b)Intelligence c)Intelligence is | d)Intelligence is
single, consists of determined fixed and
general multiple solely by cannot be
ability independent biological developed b
measured by abilities, such factors. over time.
1Q tests. as linguistic
and spatial
intelligence
56 | According to Freud’s Psychoanalytic Theory, which component of personality Ego
is responsible for mediating between the id and superego?
a) Ego | b)Id | c) Superego | d) Conscious a
57 | Non-verbal intelligence tests primarily rely on language-based tasks to assess
cognitive abilities. False
a) True b) False c) Partially True | d) Cannot pe b
determined
58 | Guilford’s Structure of Intellect model classifies intelligence based on which Content,
three dimensions? Operations,
Products
a) Memory, b) Content, ¢) Verbal, d) General,
Reasoning, Operations, Nonverbal, Specific, b
Creativity Products Performance Fluid

11




59

Thurston’s Multifactor Theory assumes that intelligence is composed of
several independent primary mental abilities.

True
a) True b) False c) Partially True | d) Cannot pe a
determined

60 | Maslow’s hierarchy of needs suggests that self-actualization can be achieved
before basic physiological needs are met. False

a)True b) False c) Partially True | d) Cannot be b
determined

61 | According to Allport’s Trait Theory, which type of trait is most pervasive and .

. . Cardinal
influences almost all behaviors? .
Trait
a) Central Trait b) Secondary c¢) Cardinal Trait | d) Surface Trait
Trait c

62 | In a personality assessment based on Maslow’s hierarchy, a student’s
motivation is evaluated. If their physiological and safety needs are met, Love a'nd
but they lack a sense of belonging, which level of need is currently Belonging
unmet? Needs

a) Physiological c) Love and d) Esteem Needs
Needs b) Safety Needs Belonging c
Needs

63 | Assertion (A): Cattell’s Factor Theory of Personality identifies 16 personality

factors using factor analysis.
. . , Ais true, but
Reason (R): These factors are derived from observing inconsistent R is false
patterns of behavior across individuals.
a) c) Ais true, but R | d)A is false, but
Both A and R b) Both A and R is false. R is true.
are true, but R
are true, and .
. is not the
R is the c
correct
correct .
. explanation
explanation of A
of A. '

64 | Assertion (A): Freud’s Ego operates on the reality principle. Both A and
Reason (R): The Ego balances the demands of the Id and Superego in R are true,
realistic ways. and R is the

correct
explanation
of A.
a)BothAandR |b)BothAandR |c)Aistrue, butR | d) Ais false, but
are true, and are true, but R is false. R is true. a
R is the is not the

12




correct correct
explanation explanation
of A. of A.
65 | What is the highest level in Maslow’s Hierarchy of Needs?
Self-
actualization
a) Safety needs c) Self- d) Belongingness
b) Esteem needs actualization and love c
needs
66 | How many personality factors are identified in Cattell’s Factor-theory of
Personality derived through factor analysis ? 16
a) 10 | b) 12 | c) 14 | d)16 d
67 | The concept of negative education was given by:
Naturalists
a) Pragmatists | b) Naturalists | ¢) Idealists | d) Realists b)
68 | Who said, “Education is the unfoldment of what is already enfolded”"! Froebel
a) Froebel | b) Pestalozzi | ¢) Plato | d) Panini a)
69 | The most influential book ‘Emile’ is written by
Rousseau
a)John Dewey | b)August Comte | c¢)Rousseau | d)None of these c)
70 | Who is considered as the father of ‘Existentialism’? Soren
Kierkegaad
a) Camus b) Soren c) Heidegger d) John Dewey
Kierkegaad b)
71 | Teacher centric education is mostly believed by the: Idealists
a) Pragmatists | b) Naturalists | ¢) Realists | d) Idealists d)
72 | Which definitions on education according to Swami Vivekananda are correct.
A. Education is the perfection of man.
B. Education is the manifestation of God.
C. Education is the manifestation of the perfection already in man. A & Conly
D. Educationis the manifestation of the perfection already in God.
a) A&Bonly |[b) A&Conly [c)B&Donly [d)A&Donly b)
73 | The Latin word ‘Educatum’ means The act of
teaching
a)The act of b) To train ¢)To Lead out d)To Draw out )
teaching a
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74 | Match List: I withList:II:
List: I List: IT
A. Monism i. Naturalism .
B. Dualism ii. Manifold nature of Reality A'IX’ B- L,
C. Pluralism iii. Dual nature of Reality C-ii & D-i
D. Materialism iv. Reality is one
a) A-iii, B-ii, b) A-iv, B-iii, ¢) A-iii, B-ii, C- | d) A-iv, B-iii, C- b)
C-i&D-iv C-ii & D-i iv &D- i ii &D-iii
75 | Naturalists suggest, curriculum should be ...
Pupil-centric
a) Pupil-centric b) Teacher- ¢) Both (a) and d) Neither (a) and
centric (b) (b) 2)
76 | Sri Aurobindo’s contribution to education is: Integral
Education
a) Integral b) Basic c) Negative d)Man making 2)
Education Education Education Education
77 | ‘Truth, Beauty and Goodness as the aims of education’ was emphasized by: Idealists
a) Pragmatists | b) Naturalists | ¢) Realists | d) Idealists d)
78 | Match List: I with List:II:
List: I List: IT
A. Naturalism i. No final reality L
B. Idealism ii. Utility A- iii, B-iv,
C. Pragmatism iii. Matter and nature reality Ci&D-ii
D. Realism iv. Idea and soul reality
a) A-iii, B-1iv, b) A-iv, B-iii, ¢) A-iii, B-iv, C-i | d) A-iv, B-iii, C-
C-ii & D- i C-i & D- i &D- i ii & D-i ©)
79 | The theory of cultural lag was developed by:
Ogburn
a) Maclver b) Ogburn ¢) Davis d) Parson (b)
80 | Which among these is not an outcome of modernization? Increasing
caste
rigidity
a) b) Urbanization ¢) Increasing d) All of these ©)
Industrializati caste rigidity
on
81 | Which of the following statements are true?
A. Culture consists of patterns, explicit and implicit.
B. Culture is continuous. D. All the
C. Culture is accumulative. above

D. All the above
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) A& C B &D d)D

b)B & C (d)
82 | The book “Delinquent Boys: The culture of the Gang” was written by:
Cohen
a) Durkheim b) Cohen ¢) Mertom d) Clinard (b)
Cohen
83 | The process by which an individual learns the culture of their society is:
Socialisation
a) Internalisation | b) Sanskritisation | ¢) Socialisation d) Modernization
(©)
84 Online
What is the purpose of establishing UDISE+ by the Government of India? uploading of
data at
school level
a) Online b) Online ¢) Providing d) All of the
uploading of submission of information Above @)
data at school fee by about various
level students schemes
85 | Match the percentage distribution enrolments of students in all recognized
schools by social category as per year 2022-24 in India.
1-C
1. General A) 18% 2-A
2. Scheduled Caste B) 10% 3-B
3. Scheduled Tribe C)27% 4-D
4. Other Backward Class D) 45%
a) 1-C,2-A,3-D, | b)1-C,2-A,3-B, ¢)1-A,2-D,3-B, d)1-D,2-A,3-C, )
4-B 4-D 4-C 4-B
86 | With reference to Overall Gross enrollment Ratio by Gender and level of
school education match Girl Child GER with given stage in Arunachal
Pradesh as per 2023-24 report.
A-1V, B-1,
A. Foundational Stage 1. 102.7 % C-III, D-I1
B. Preparatory Stage ii. 59.7 %
C. Middle Stage iii. 92.9 %
D. Secondary Stage iv. 71.3 %
a) A-iv, B-i, C-iii, | b) A-iv, B-i, C-ii, | c¢) A-i, B-ii, C-iii, | d) A-iii, B-i, Cii, @
D-ii D-iii D-iv D-iv
87 | Name the tribe of Smt. Droupadi Murmu who was sworn in as the 15th
President of India on 25 July, 2022. Santhal
a) Munda | b) Kharia | ¢) Garo | d) Santhal (d)
88 | Choose false statements on RTE Act 2009. B&C
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A. RTE Act 2009 provides Right of children to free and compulsory
education till completion of elementary education in a neighbourhood
school.

B. RTE Act came into effect on 1 April 2011.

C. RTE Act clarifies that ‘Free education’ means free education to every child
is obligation of the government irrespective of their enrollment in a
particular type of school.

D. Section 21 of RTE Act deals with School Management Committee.

a)A&B |b)B&D |c)B&C | d)A&D (c)
89 | Match the following Articles of Indian Constitution with reference to with
SC, ST welfare.
A. Article 341 i. Scheduled Tribe Definition A-IV, B-1,
B. Article 342 ii. promotion of Education of weaker C—III, D-II
section of Society
C. Article 16(4) iii. Provision for Reservation
D. Article 46 iv. Scheduled Caste Definition
a) A-1V, B-I, C— | b) A-1V, B-I, C— | ¢) A-L, B-IV, C— | d) A-1V, B-III, )
11, D-1IT 111, D-II 111, D-1T C—I, D-1I
90 | A school designs peer tutoring programs where high achievers help weaker Vygotsky’s
students. This practice aligns best with: social
development
theory
a) Piaget’s b) Freud’s c) Maslow’s self- | d) Vygotsky’s
individual psychosexual actualization social ()]
cognitive theory development
development theory
theory
91 | In Thorndike's theory, the Law of Effect states that: Responses
followed by
satisfaction
are
strengthened
a) Learning b) Responses c¢) Repetition d) Intelligence is
occurs by followed by always leads fixed (b)
insight satisfaction to learning
are
strengthened
The process of employing psychological procedures to treat persons with psychothera
psychological difficulties by a qualified psychologist is known as py
92 | a) Psychoanalysis | b) psychotherapy | c) psychiatry d) None of the
above (b)
When a baby searches under a blanket for a hidden toy, this shows: Presence of
object
permanence
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93 | a) Presence of b) Lack of ¢) Egocentrism d) Reflex action
object cognitive (a)
permanence development
Maslow’s hierarchy places which need immediately above safety needs? Love &
belongingne
ss
94 | a) Esteem needs | b) Physiological | c) Self- d) Love &
needs actualization belongingness (d)
Assertion (A): Motivation guarantees learning success. A is false

Reason (R): Without appropriate strategy, even motivated learners may

but R is true

fail.
Choose the correct code
95 |a)BothAandR |b)Both AandR |c) Aisfalse but | d)Aistrue butR
are true and R are true but R R is true is false (©)
is the correct is not the
explanation correct
of A explanation
of A
96 | What is called the key of the keyboard from F1 to F12? Function
Key
a) Space Key b) Special Key c) Delete Key d) Function Key
(d)
97 | VDU stands for____. Visual
Display Unit
a) Video Device | b) Vision Display | c¢) Visual Display | d) Visual Device )
Unit Unit Unit Unit
98 | True or False :
a) A firewall is a type of hardware.
b) A scanner is an output device. a=False,
¢) The quickest way to add and find the maximum and minimum is to b=False,
highlight the row or column and press the auto sum button. c=True,
d) One system can be made up of other systems or can be a part of a bigger d =True
system.
A)a=False, B) a=True, O) D)
b=False, b=False, All are False All are True
A
c=True, c=False,
d=True d=True
99 | Match the following columns:
i. Information Technology A. Concurrent List
ii. Police B. Union List D ii-C
iii. Education C. State List LA
iv. Defense D. Residuary Subjects iii-A, iv-B
Choose the correct answer from the option given below:
a) i-D, ii-C, iii-A, | b) i-C, ii-D, iii-A, | ¢) i-D, ii-A, iii-C, | d) i-D, ii-B, iii-A, a)

iv-B

iv-B

iv-B

iv-C
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100

Match the following columns:

a) Read Only Memory i. Means of communication a) v
b) Operating System ii. Groups of commands b),l,
c¢) Program iii. Information in its raw form ©) n
d) Data iv. Changes cannot be made to the original d) iii
information in this memory

A) B) ®) D)

a)-ii, b)-i a)-i, b)-iv, ¢)-ii, | a)-iv, b)-i, ¢)-ii, | a)-iii, b)-iv, ¢)-i, C

¢)-iv, d)-iii d)-iii d)-iii d)-iii
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